## Browning Public Schools **Board Agenda Request** Meeting To Be Held: 04/24/24



Recognit	ion: Students	Staff	Parents	
Informat	ion: 🗌 Building Report	Old Business	Superintendent	's Report
Action:	Resignations	Hiring	Contract Servic	e Agreements
	Travel Out-of-State	Travel In State	Approvals	
	Termination	Legal Matters	Other:	
	This action request pertains to	Elementary (only)	) 🖂 High School/Di	strict Wide
Date:	04/16/24			
То:	<u>Corrina Guardipee-Hall</u> Superintendent	From: Title:	<u>Sandra Rivas</u> Finance Director/Distri	ct Clerk
Subject:	Purchases Over \$10,000.00			
purchases	ion (District Goals): Board of over \$10,000. I Impact: See Below	Trustees Policy #7320	) calls for board approva	ll of any
Funding	Source (Budget/grant, etc.): ]	dentified below		
Attachm	ent(s): Purchase orders/quotes			
Req#6416 Req#6416 Req#6416 Req#6440	52Great Minds PBC50McGraw Hill LLC	\$1: \$14	3,185.64 Curr 4,846.21 MCI	LSDP iculum LSDP LSDP
Commen	ts:			
Board Ac	etion: 🗌 N/A (Info)	Approved	Denied	:

04/18/24	4		BROWNI	NG PUBLIC SCROOLS		Page: 1
16:17:2	1			R <u>Q</u> Print		Report ID: RQ100A
Orgn. C	urriculum					
Line	Item #	Description	Quantity P	rice Total	Fund Org Prog Func Obj Proj	Amount

			•						
REQU:	64400	Amount:	12,299.66	Date: 04/18/24	Requested	by: JOCKO/REBE	Appr by:		
PO:					Ship To	99			
8449	NEW	SELA, INC.				Browning Sch	ool Curriculum D	ep	
PO BOX	2530					ATTN: Jocko/	Rebecca		
1801 W	OLYMPIC	C BLVD				129 1st Ave	SE Browning MT 5	94	
PASADE	NA, CA S	91199-2530				Ship Via ST	ANDARD		
Notes:	*****	***Board Ap	proved April 24,	2024********					
Quote:	Q-12314	42							
BHS									
1		New	sela Subscription	n 1.000	12299.660	12299.66 115	60 423 1000 61	0 582	12299.66
4				0.000	0.0000	0.00			

· · ·

04/16/24 14:29:20 BROWNING PUBLIC SCHOOLS RQ Print

Page: 1 Report ID: RQ100A

Orgn. Curriculum

Line Item #	Description	Quantity	Price	Total Func	l Org Prog	Func Obj	Proj	Amount
REQU: 64162 Amou	int: 13,185.64 I	Date: 04/09/24	Requeste	d by: JOCKO/REBE	Appr by:	REBECCA,	SANDRA	
?0:			Ship To	99				
8765 GREAT MIN	DS PBC			Browning Sc	hool Curr	iculum De	р	
PO BOX 200283				ATTN: Jocks	/Rebecca			
PITTSBURGH, PA 1525	1-0283			129 1st Ave	SE Brown	ing MT 59	4	
				Ship Via S	TANDARD			
Notes: Quote: 00338	832	***Board A	prroved Apr:	il 24, 2023*****				
Napi-Edi. W								
1 GRADE 4		0.000	0.0000	0.00				
2 9781640540699	Learn Workbook 5	102.000	7.6100	776.22 126	90 161	1700 610		776.22
3 9781640540910	Succeed Workbook 2	98.000	10.5000	1029.00 126	90 161	1700 610		1029.00
4 9781640540668	Learn Workbook 2	128.000	7.6100	974.08 126	90 161	1700 610		974.08
5 9781640540682	Learn Borkbook 4	127.000	7.6100	966.47 126	90 161	1700 610		966.47
6 9781640540903	Succeed Workbook 1	108.000	10.5000	1134.00 126	90 161	1700 610		1134.00
7 9781640540651	Learn Workbook 1	142.000	7.6100	1080.62 126	90 161	1700 610		1080.62
8 GRADE 5		0.000	0.0000	0.00				
9 9781640540439	Succeed Workbook 3	183.000	7.3500	1345.05 126	90 161	1700 610		1345.05
10 9781640540729	Learn Workbook 2	65.000	7.6100	494.65 126	90 161	1700 610		494.65
11 9781640540712	Learn Workbook 1	101.000	7.6100	768.61 126	90 161	1700 610		768.61
12 9781640540736	Learn Workbook 3	82.000	7.6100	624.02 126	90 161	1700 610		624.02
13 9781640540743	Learn Workbook 4	145.000	7.6100	1103.45 126	90 161	1700 610		1103.45
14 9781640540934	Succeed Workbook 1	141.000	7.3500	1036.35 126	90 161	1700 610		1036.35
15 9781640540941	Succeed Workbook 2	104.000	7.3500	764.40 126	90 161	1700 610		764.40
16	Shipping/Handling	1.000 1	1088.7200	1088.72 226	90 161	1700 610		1088.72
17		0.000	0.0000	0.00				

04/16/24 14:29:02

## BROWNING PUBLIC SCHOOLS RQ Print

Page: 1 Report ID: RQ100A

Orgn. Curriculum

Line Item #	Description	Quantity	Price	Total Fun	d Org Prog	Func Ob	j Proj	Amount
REQU: 64160 Amou	unt: 14,846.21 Date	: 04/09/24	Requested	by: JOCKO/REBE	Appr by:	REBECCA	, SANDRA	
PO:			Ship To	99				
1846 MCGRAW HI	ILL LLC			Browning S	chool Curr	iculum D	ар	
P.O. BOX 182605				ATTN: Jock	/Rebecca			
COLUMBUS, OH 43218-	-2605			129 1st Av	SE Brown	ing MT 5	94	
				Ship Via	STANDARD			
Sotes: Quote: BMAY	R-04042024123144-001 *	****Board A	pproved April	24, 2024*****				
Kapi-Edi W.								
1 WONDERS GR 4	Reading/Writing Workshop	137.000	0.0000	0.00				
1 WONDERS GR 4 2 9780076785131	Reading/Writing Workshop Your Turn Practice Book	137.000 129.000		0.00 1447.38 115	30 423	1000 610	) 582	1447.38
			11.2200	Constant Statistics of the	30 423 30 423	1000 610		1000000
2 9780076785131	Your Turn Practice Book	129.000 50.000	11.2200 10.1100	1447.38 115			582	505.50
2 9780076785131 3 9780021308736	Your Turn Practice Book Close Reading Companion	129.000 50.000	11.2200 10.1100 67.8300	1447.38 115 505.50 115	30 423	1000 61	582	505.50
2 9780076785131 3 9780021308736 4 9780076767991	Your Turn Practice Book Close Reading Companion	129.000 50.000 137.000 0.000	11.2200 10.1100 67.8300	1447.38 115 505.50 115 9292.71 115	30 423	1000 61	) 582 ) 582	505.50 9292.71
2 9780076785131 3 9780021308736 4 9780076767991 5 WONDERS GR 4	Your Turn Practice Book Close Reading Companion Reading/Writing Workshop	129.000 50.000 137.000 0.000	11.2200 10.1100 67.8300 0.0000 11.2200	1447.38 115 505.50 115 9292.71 115 0.00	30 423 30 423	1000 610 1000 610	) 582 ) 582 ) 582	1447.38 505.50 9292.71 1514.70 940.23

## 04/16/24 14:29:37

## BROWNING PUBLIC SCHOOLS RQ Print

Page: 1 Report ID: RQ100A

Orgn. Curriculum

Line	Item		Description		Quantity	Price	Total	Fund	Org Prog	Fund (	Xbj Proj	Anount
REQU:	64163	Amount:	36,454.00	Date:	04/09/24	Requested	by: JOCK	O/REBE	Appr by:	REBECO	A, SANDRA	
PO:						Ship To		99				
6180	BENC	HWARK EDU	CATION COMPANY				Brow	ning Sc	hool Curr	iculum	Dep	
629 FI	TH AVEN	UE					ATTN	Jocko	/Rebecca			
PELHAM	NY. 10	803					129 1	st Ave	SE Brown	ing MT	594	
							Ship	Via S	TANDARD	-		
Notes:	Vina-E.	Evans			****Boa	rd Approved Ap	oril 24, 2	2024***	**			
1 W	XY10687	De	codable FluencyBl	dr K-1	10.000	2680.0000	26800.0	0 115	10 423	1000 6	510 582	26800.00
2 Wi	¥¥53056	De	codable FluencyBl	drGrK	2.000	995.0000	1990.0	0 115	10 423	1000 6	10 582	1990.00
3 W1	Y53165	De	codable FluencyBl	drGrK	11.000	150.0000	1650.0	0 115	10 423	1000 6	10 582	1650.00
4 107	Y53166	De	codable FluencyBl	drGr1	10.000	270.0000	2700.0	0 115	10 423	1000 6	10 582	2700.00
5		Sh	ipping/Handling		1.000	3314.0000	3314.0	0 115	10 423	1000 6	10 582	3314.00